Device ‘ Value ‘ Qty ‘ Identifier(s)
10BQ060 - 8 | D1, D2, D3, D4, D5, D6, D16, D18
1N4148 - 8 | D7, D10, D11, D12, D13, D14, D15, D17
2N4401 - 6 | T1, T3, T4, T5, T6, T7
2N4403 - 2 | T2, T8
CAP-13x6mm 100n 6 C2, C3, C13, C14, C15, C16
CAP-8xbmm 1u-PE 2 C20, C22
CAPPO-10mm | 47u-63V 2 C1, C4
CAPPO-10mm | 1000u-16V | 11 | C5, Ce6, C7, C9, C11, C27, C28, C30, C31, C32,
C34
CAPPO-6.3mm 4u7 1 | C17
CC1206 100n 15 | C8, C10, C12, C18, C19, C21, C23, C24, C25,
C26, C29, C33, C35, C36, C37
NE5532A - 1 U2
PGA2500IDB - 1 | Ul
PIN - 28 | J1,J2,J3, J4, J5, J6, J7, J8, J9, J10, J11, J12,
J13, J14, J15, J16, J17, J18, J19, J20, J21, J22,
J23, J24, J25, J26, J27, J28
RC1206 10R 4 | R3, R6, R25, R27
RES-1/4W-.3in 10R 6 | R1, R4, R12, R22, R23, R28
RES-1/4W-.3in 100R 2 | R7,R13
RES-1/4W-.3in 1k 6 | R2, R5, R17, R21, R24, R26
RES-1/4W-.3in 10k 4 | R8, R9, R10, R11
RES-1/4W-.3in 15k 2 R14, R18
RES-1/4W-.3in 22k 2 | R15, R19
RES-1/4W-.3in OPEN 2 | R16, R20
TK1-L2-4.5V - 2 | RY1, RY2
ZENER 5V6 2 | DS, D9




Device 10BQO060.
Total number of components: 8

Components on top side: D1, D2, D3, D4 (4 total).

Components on bottom side: D5, D6, D16, D18 (4 total).
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Device 1N4148.
Total number of components: 8

Components on top side: D7, D10, D11, D12, D13, D14, D15, D17 (8 total).
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Device 2N4401.
Total number of components: 6

Components on top side: T1, T3, T4, T5, T6, T7 (6 total).
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Device 2N4403.
Total number of components: 2
Components on top side: T2, T8 (2 total).
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Device CAP-13x6mm; value 100n.
Total number of components: 6

Components on top side: C2, C3, C13, C14, C15, C16 (6 total).
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Device CAP-8x5mm; value 1u-PE.
Total number of components: 2
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Device CAPPO-10mm; value 47u-63V.
Total number of components: 2
Components on top side: C1, C4 (2

otal)
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Device CAPPO-10mm; value 1000u-16V.
Total number of components: 11

Components on top side: C5, C6, C7, C9, C11, C27, C28, C30, C31, C32, C34 (11 total).
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Device CAPPO-6.3mm; value 4u7.
Total number of components: 1
Components on top side: C17 (1 total).
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Device CC1206; value 100n.
Total number of components: 15

Components on top side: C12, C18, C19, C21, €23, C24, C26 (7 total).

Components on bottom side: C8, C10, C25, C29, C33, C35, C36, C37 (8 total).
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Device NE5532A.
Total number of components: 1
Components on top side: U2 (1 total).
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Device PGA2500IDB.
Total number of components: 1
Components on top side: Ul (1 total).

O _O O =

T4 T3 Té TSQ

R2?

Cc33

cas

R3|:| 2 P
cs

DS

]

D6

R6I:||%|

13




Device PIN.
Total number of components: 28
Components on top side: J1-J28 (28 total).

C1S

o
*
—

[l:| 1 C
7[' R27 C33 c8
D18
casl:l D5

C35

]

ca9 D6

Zo e

R6I:||%|

T4]<T3](T6]<T5]©
T\

14




Device RC1206; value 10R.
Total number of components: 4
Components on bottom side: R3, R6, R25, R27 (4 total).

l?‘-l

Q g 00 0m
R17
@ \_/Ts R16
D RIS

c2 c14 RIS
p2 | Dt R20
ce2

cee
C @)
ool
¥

D4

D3

CICIC),

Ri2 T4 T3 T6 TSQ

IE

[
[ =3 =
casl:l C36|:| [l:| ﬂi

ca9 D6
= [
cas
o219

O

15




Device RES-1/4W-.3in; value 10R.
Total number of components: 6
Components on top side: R1, R4, R12, R22, R23, R28 (6 total).
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Device RES-1/4W-.3in; value 100R.

Total number of components: 2
Components on top side: R7, R13 (2

total).
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Device RES-1/4W-.3in; value 1k.
Total number of components: 6
Components on top side: R2, R5, R17, R21, R24, R26 (6 total).
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Device RES-1/4W-.3in; value 10k.
Total number of components: 4
Components on top side: R8, R9, R (

total).
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Device RES-1/4W-.3in; value 15k.

Total number of components: 2

Components on top side: R14, R18 (2 total).
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Device RES-1/4W-.3in; value 22k.

Total number of components: 2

Components on top side: R15, R19 (2 total).
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Device RES-1/4W-.3in; value OPEN.
Total number of components: 2

Components on top side: R16, R20 (2 total).
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Device TK1-L2-4.5V.
Total number of components: 2
Components on top side: RY1, RY2 (2 total).
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Device ZENER; value 5V6.
Total number of components: 2
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